PROJEKT ARCHITEKTONICZNO — BUDOWLANY
KONTENEROWY BUDYNEK SOCJALNY — 1 MOD,

5.5, PRZEKROJE

1 - Belka G90x50x2

2 - Profil 120x80x4

3 - Stup 180x130x24x4
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Material: | 2 - S5t38 (X,Y,V.W) Materiat: | 2 - S$138 {(X,Y, VW) Materiah | 2 - S135 (X,Y,V.W)
Alem] 3,72 Alom? 15,38 A [cm 14,16
i Jy [em¥] 49,33 Jy [em’] 309,66 Jy [cm’] 283,74
Jz [em¥] 9,50 Jz [cm”] 163,89 Jz fem] 581,52
Dyz [em™] 0,00 Dyz [cm’] 0,00 Dyz [em"] 113,51
o [Deg] 0,00 o [De%] 0,00 a [Deg] -71,34
Iy [om’] 49,33 by [em?] 309,66 Iy fem™] 519,86
iz fom?) 9,50 Iz [cm®] 163,89 Iz [em™ 245,41
Jt fem’] 0,06 Jt {om] 323,84 Jt [em™] 0,83
Jo [em?] 128,39 Jo {om] 0,00 Jo [cmT 875,52
iy {cm) 3,64 iy [cm] 4,49 iy [cm] 6,62
iz [em] 1,60 iz [cm] 3,26 iz [em] 4,16
is [cm] 5,09 is [cm] 5,565 is forn] 7.82
m [ka/m] 2,92 m [kg/m] 12,07 m [kg/m] 11,12
4 - Belka C120x50x2 5 - Profil ohwodowy 250x130x3
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Material: | 2 - 835 (X,Y,V.W) Materiat; | 2 - SI3S {(X,Y VW) | -
Alom? [ 5,20 Lo Afom] 17,041
Jy Jem’] 118,69 T Jy [om? 1200,92
Jz [em’] 19,77 JZ [em’l ] 425,61
Dyz [em™] |~ 0,00 “Dyz [em®] -345 61
S o [Deg] . 0,00 ... . o[Deg) 20,867 7
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Jt{em’} v, 007 . Jt[em] 0,51
Jo [om'] - 663,82 Jo [om‘] 0,00
iv [em] 4,78 iy [em] 8,84
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